First part of recipe:  list of disanalogies.  I only thought of two.  You may have thought of others.  I wouldn’t fault you for not thinking of these.

a.
The fertilized ovum and fetus will naturally become human beings.  The cells in my body will not naturally become human beings.

b.
The space explorer does not destroy her cells in escaping.  They continue to live indefinitely.  A fertilized ovum is destroyed in abortion.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogy.  

a. 
I can adjust the target to remove disanalogy (a) by adding the following background information.  Imagine an artificially inseminated ovum that now lies in a test tube.  It was not “naturally” created and will not “naturally” become a human being except after an unnatural process.  


I can adjust the target to remove disanalogy (b) by imagining a new “morning after” procedure for impregnated women.  Their fertilized ova are removed alive, and are sustained indefinitely in a solution that does the ova no harm, though the ova never divide and develop into fetuses.

b. 
Or I can adjust the analog to remove disanalogy (a) by changing the following background information.  Instead of falling into the hands of an alien culture, whose scientists decide to create a few hundred thousand or more human beings from her cells, imagine that our space explorer has fallen into some naturally occurring solution that will naturally react with the cells in her body to cause them to grow into persons.  


I can adjust the analog to remove disanalogy (b) by imagining that the space explorer in escaping must in effect destroy all the cells that would have developed into persons.  This leaves her with a minor flesh wound, as it happens. 

The disanalogies do not seem relevant, because after patching up the analogy (in any of the suggested ways) to deal with them, I am still inclined to agree with the author about the conclusion of the analog:  whatever right to life the space explorer’s cells might have, that right is outweighed by the space explorer’s mother’s right to liberty, and by analogy, any right to life a fertilized one-celled ova has is outweighed by the mother’s right to liberty.

This analogy as constructed seems limited to fertilized ova.

If interested, you could try to extend the analogy to fetuses, or try to show that it cannot be extended to fetuses.

